Physical and World Geography

TEST PAPER-2

Consider the following statements

1.  Earth has seasons because its axis is tilted and
its revolving motion around the sun.

2. The Earth has an elliptical orbit around our
Sun.

Choose the correct answer using the code follow:

(A) Only1

(B) Only 2

(C) Both1and?2

(D) Neither 1 and 2

In the southern hemisphere, the smallest day of the
year normally occurs in the:

(A) The first half of the month of June

(B) The second half of the month of June

(C) The first half of the month of December

(D) The second half of the month of December

With reference to the mechanism of South West
Monsoon which of the following statements is/are
correct?

1. The reversal of winds starts taking place over
the Indian sub-continent during the summer
season.

2. The Monsoon winds approach the Indian sub-
continent in two separate branches — the Bay of
Bengal and the Arabian Sea.

Select the correct answer using the code given

below:

(A) 1 only

(B) 2 only

(C) Both1and2

(D) Neither 1 nor 2

Consider the following statements with respect to

Retreating Monsoon

1. Retreating monsoon season commences with
the beginning of the withdrawal of the
southwest monsoon.

2. The withdrawal of the Retreating monsoon is
gradual.

3. As the monsoon starts retreating towards the
south, the pressure gradient becomes high.

Choose the correct answer using the code follow:

(A) Only 1 and 2

(B) Only 2 and 3

(C) Only1and?2

(D) All the statements are correct

Consider the following statements with respect to
Clouds.
1. Clouds form when the air is saturated and

cannot hold any more water vapor.

2. Vertical Cloud form by thermal convection
only,

3. Altostratus clouds produce a halo
phenomenon.

Choose the correct answer using the code follow:

(A) Only 1 and 2

(B) Only2and3

(C) Only 2

(D) Only 1

Consider the following statements with respect to

rainfall

1. The rain associated with the passage of a
cyclone or depression and caused by a warm;
moist airmass moving upwards over a colder
heavier air is known as cyclonic or Frontal rain.

2. The descending Wind on the leeward side is
heated adiabatically and is known as Anabatic
Win(D)

3. Conventional rainfall is widespread in tropical
areas between the Tropic of Cancer and the
Tropic of Capricorn.

Choose the correct answer using the code follow:

(A) Only 1 and 2

(B) Only 1 and 3

(C) All statements are correct

(D) Only 2 and 3

Consider the following statements about Cloud

Seeding which is in the news.

1. Cloud seeding is a weather modification
technique that improves a cloud’s ability to
produce rain or snow through Silver Iodide
Aerosols.

2. These nuclei provide a base for snowflakes to
form.

3. Cloud seeding is used all over the world as a
method for enhancing winter snowfall and
increasing mountain snowpack, supplementing
the natural water supplies available to
communities of the surrounding area.

Choose the correct answer using the code follow:

(A) Only 1 and 2

(B) Only 2 and 3

(C) Only 2

(D) All the statements are correct
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10.

11.

Consider the following statements related to

Cloudburst

1. A rainfall rate that is equal to or more than 200
mm per hour is a cloudburst.

2. Cloudburst is one of the major man-made
disasters.

3. Cloudburst occurs mainly in the desert and
mountain ranges.

Choose the correct answer using the code given

follow:

(A) Only 1 and 2

(B) Only 3

(C) Only 1 and 3

(D) Only 2

Consider the following statements

1. Northeastern regions and the windward side of
the Western ghats experience an average of 400
cm of annual rainfall.

2. Desert and Semi-desert Regions receive below
50 cm of rainfall.

Which of the above statement is/are correct.

(A) Only 1

(B) Only 2

(C) Both statements are incorrect

(D) Both statements are correct

Consider the following statements related to

Savanna’s type of climate

1. This climate is also called as Sudan type of
climate.

2. The regions of the Savanna climate are
unaffected by low and high-pressure systems in
a year.

3. Savanna type of climate is induced due to the
introduc-tion of wet summer and dry winter
seasons.

4. Savanna climate is a transitional belt between
humid equatorial and dry tropical climates.

Which of the above statement is/are correct.

(A) Only1and 4

(B) Only 2 and 2

(©) 1,3,and 4

(D) 2,3and 4

‘Which of the following statements about the Indian

Ocean Dipole is/are correct?

1. The primary reason for the dipole is a
temperature difference.

2. A spell of hot, dry weather in Australia has
resulted in a rash of bushfires, which has been
induced by the Indian Ocean Dipole
phenomenon.

3. Indian Ocean Dipole’s negative phase is
beneficial for the Indian monsoon.

12.

13.

14.

Answer the questions using the code given follow:
(A) 1 and 2 only
(B) 2 and 3 only
(O) 1 and 3 only
(D) All of the above

Consider the following statements regarding the

impact of the Indian Ocean Dipole on El Nino:

1. An Indian Ocean Dipole phenomenon can
influence and accelerate the rate of EI Nino.

2. Oceanic dipoles in the Indian El Nino have a
direct effect on anomalies and variations in sea
surface temperature.

Which of the statements given above is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) None of the above

Which of the following statements is/are correct

about the Indian Ocean Dipole?

1. A positive Indian Ocean Dipole results in a
severe drought.

2. A negative Indian Ocean Dipole causes
enhanced monsoon rainfall.

Answer the question using the code given below:

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) None of the above

Consider the following statements about the

Madden-Julian Oscillation:

1. Itis characterized by a pulse of clouds, rainfall,
winds, and pressure near the equator that
moves to the east about once every 3-4 days.

2. It’s a receding phenomenon and is most
prevalent throughout the Atlantic and Southern
Oceans.

3. It causes significant changes in tropical weather
on a weekly to a monthly timeframe.

Which of the statements given above is/are

incorrect?

(A) 1and 2 only

(B) 2 and 3 only

(©) 1and 3 only

(D) 1,2and 3
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15.

16.

17.

Which of the following statements about the effect
of the Madden-Julian Oscillation on the Indian
Monsoon is/are correct?

1. When the Madden-Julian Oscillation occurs
over the Indian Ocean during the monsoon
season, the Indian subcontinent receives less
precipitation.

2. 'When the Madden-Julian Oscillation witnesses
a longer cycle and stays over the Pacific Ocean,
it brings abundant precipitation over the Indian
subcontinent.

Select the correct answer using the code given

below:

(A) 1only

(B) 2 only

(C) Both1and?2

(D) None of the above

‘Which of the following statements about the effect

of the Madden-Julian Oscillation is/are correct?

1. The active phase of Madden Julian Oscillation
is responsible for tropical cyclone precipitation
and development.

2.  The Madden-Julian Oscillation is a cloud,
wind, and rain pattern that is limited over
Pacific Ocean areas.

3. The Madden-Julian Oscillation is a seasonal
phenomenon.

Select the correct answer using the code given

below:

(A) 1 only

(B) 2 and 3 only

(C) 1 and 2 only

(D) 1,2and 3

Which of the following statements is/are correct?

1.  El Nino is a climatic trend that depicts the
exceptional warming of the eastern tropical
Pacific Ocean's surface waters.

2. La Nina is a phenomenon that depicts the
abnormally low temperatures that have been
seen in the eastern tropical Pacific.

3. The La Nina weather pattern happens more
frequently than the El Nino pattern.

4. Both El Nino and La Nina are weather patterns
that typically reach their peaks during the
summer months in the Southern Hemisphere.

Select the correct answer using the code given

below;

(A) 1 and 2 only

(B) 2 and 3 only

(O 1, 2, and 3 only

(D) 1, 2, and 4 only

18.

19.

20.

Which of the following statements about El Nino's

effect on Indian climate is/are true?

1. El Nino has a negative effect on the Indian
monsoons and, as a result, on agricultural
production in India.

2. Temperature decreases brought on by El Nino's
are responsible for a diverse array of health
issues.

3. ElNino has been the cause of six of India's most
severe droughts since 1871, including the most
recent ones that occurred in 2002 and 2009.

Select the correct answer using the code given

below:

(A) 1 and 2 only

(B) 2 and 3 only

(O) 1 and 3 only

D) 1,2and 3

Consider the following statements:

1. ElNino is characterized by persistent cooling of
the central and eastern tropical Pacific, whereas
La Nia is characterized by a protracted
warming of these same regions.

2. El Nino gives rain to South America, but it
creates droughts in Indonesia and Australia,
whilst La Nina causes drought in Peru and
Ecuador.

‘Which of the statements given above is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) None of the above

It is a spinning cone of low pressure above the North
and South Poles that is accentuated by the
temperature difference between the polar areas of
North America and Europe, which causes a
temperature rise. Which of the following
geographical phenomena is being talked about?

(A) Aurora Borealis

(B) Polar Vortex

(C) Aurora Australias

(D) Coronal mass ejection
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21.

22.

23.

24.

With reference to the South Atlantic Anomaly

(SAA), consider the following statements.

1. The South Atlantic Anomaly (SAA) is a stretch
between South Africa and South Atlantic.

2. The trapping of magnetic particles near the
coast of Brazil, lead to the development of the
South Atlantic Anomaly phenomenon.

Select the correct answer using the appropriate code

given below:

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

With reference to the South Atlantic Anomaly

(SAA), consider the following statements.

1. The most significant effects of the South
Atlantic Anomaly (SAA) are primarily limited
to technical malfunctions on satellites and
spacecraft, telecommunications, certain
mobile phones, etc.

2. The South Atlantic Anomaly (SAA) could also
impact the migratory movement of all those
who use the earth’s radiation field.

Select the correct answer using the appropriate code

given below:

(A) 1 only

(B) 2 only

(©) Both 1 and 2

(D) Neither 1 nor 2

With reference to the factors affecting the

Insolation, consider the following statements.

1. The angle between the Sun rays and the tangent
to the surface of the Earth largely determines
the amount of Insolation received at a place.

2. Asthe angle of the sun’s rays increases
poleward, the amount of Insolation received
also decreases in that direction

3. The Earth at the time of perihelion should
receive maximum Insolation while it should
receive minimum Insolation at the time of
aphelion.

4. The amount of Insolation received at the earth's
surface increases with a decrease in the number
of Sunspots.

Select the correct answer using the appropriate code

given below:

(A) 1,2, and 4 only

(B) 1and 3 only

(©) 2,3, and 4 only

(D) All of the above

With reference to the Intertropical Convergence
Zone (ITCZ), consider the following statements.

25.

26.

1. ITCZ represents the meeting ground of
Northwest and Southeast Trade winds.

2. There is seasonal shifting in the ITCZ with the
Summer Solstice and Winter Solstice of the
sun.

Select the correct answer using the appropriate code

given below:

(A) 1only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

With reference to the ITCZ, consider the following

statements.

1. Low pressure at ITCZ which is located over
north India during summers becomes pulls the
Trade Winds of the Southern Hemisphere
northwards.

2. Due to the shift in the latitudinal position of
ITCZ, the southeast Trade Winds of the
Southern Hemisphere cross the equator
between 40° and 60°E longitudes in summers.

3. The southward movement of ITCZ in winter,
lead to the reversal of wind direction in the
Indian sub-continent.

Select the correct answer using the appropriate code

given below:

(A) 1, and 2 only

(B) 1 and 3 only

(©) 2, and 3 only

(D) All of the above

With reference to the Horse Latitude, consider the

following statements.

1. The Horse Latitude is a thermally induced
subtropical high-pressure belt that extends
between 30°-35° latitudes in both hemispheres.

2. The Horse Latitude separates two wind systems
viz. Trade winds and Westerlies.

Select the correct answer using the appropriate code

given below:

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2
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Hifaa

2. <feror sreqifeer SHHet (SAA) gedt & fafdheor
&5 T IUTNT &t Tt Toft A & g b oft
ATfad &R TehdT g

e 3 7T Suge e T TN R Hel SR g4

(A) aet 1

(B) haet 2

(C) 18R 2=t

(D) a1 3RS 2

qafdu &l gvifdd e ard @Rl & e A

fr=fafEa syl R foar &

1. gIh fRon R et i Tag o TR & g
<hT THITT SHTTT §E deh fohdll T TR UT g aret
gafdqy &t A1 @t AYiRd =t 81

2. I Y ol o1 lor SI-SAT ¢a <l TR FgdT
ST &, -1 U gatay A off 99 e
gl STt &

3. IR & G YAt ot Hfehad Fafdy ured AT
1Y STafch TR & 9 gt ol gAad gafau
T AT ITRT|

4. 9R Thcichl i T H el & A1y gedft di Tag W)
UTed g9 dTet gaiay &t 76 | gig gt 81

2 f&Q 7T Iugerd ge 1 UART R el IR AT

(A) Saer 1,2 3R 4

(B) e 1 3R 3

(C) Fad 2,3 3R 4

(D) IR & goft

24.

25.

SRSWRieddT fHERor & (ITCZ) & Wed H,

fA=fafeaa sl R R &1

1. ITCZ IR ufet ok aféyor gd eamurRes gemi &
e = @ e 8|

2. ITCZ % gd & Mo dshifd ok fdepteft shifa
& T HIGH geTd giaT gl

=2 37 77 Iuged e 1 TR IR et SR IE:

(A) FHad 1

(B) el 2

(C) 13fR2aH

(D) Fat1aRAE2

ITCZ & T &, Fmfafed syl &R R &R

1. ITCZ R A g@ it ol & ERM SR 9IRa &
f@a g, aferft wiered &t amie ga=t ot 3R
Fi 3R 3R Nd =T gl

2. ITCZ & rerishia AR & seema & wror, ferof
Temef i afQor-gdf samoies uaw it § 40°
TR 60°E 221 o &9 Hed 3@T i UR Het gl

3. Iféal # ITCZ & af@ur it iR 97 d 9Rd™
IUHETEIT § g+ i feRmm Iee St 31

2 T 7T Suge e 1 TN R GEt IR I

(A) 1, 3R 2 Faat

(B) ohaet 1 3R 3

(C) 2, 3R 3 Faa

(D) IWR & goft

26. 37 3Me7iel & Heof A fRfaf@a syl R foar fifsa

1. 378 SMETiT Uah dd ¥ URA Iutwreiesdia 3=
a1 O € S T Merrgl | 30°-35° aretien &
g el g8 81

2. 1% STETiRT & UaH WUNferdl @l STelT &hedl gl
TUTReh Ug- 3R Ugs ua- |

I feg 717 Iuged Fe o1 TN e Hal IR A

(A) hae 1

(B) dhaat 2

Q) 13R2H

(D) dat13RaE2
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27.

28.

29.

30.

With reference to the Horse Lattitude, consider the

following statements.

1. The air after being heated near the equator
ascends and after blowing in opposite direction
to the surface Trade Winds descend in the
Horse Lattitude.

2. Cyclones are produced due to the subsidence of
air currents in the Horse Latitudes.

3. The Horse Latitudes is characterized by strong
and variable winds and a turbulent atmosphere.

Select the correct answer using the appropriate code

given below:

(A) 2, and 3 only

(B) Only 3

(C) Only 1

(D) 1, and 3 only

With reference to the Trade Winds, consider the

following statements.

1. Trade Winds are deflected to the rightwards in
the Northern Hemisphere and to the leftwards
in the Southern Hemisphere.

2. The poleward parts of the Trade Winds are
warm and cause Cyclones.

3. Insome places on the land, the Trade Winds
disappear during the summer season.

Select the correct answer using the appropriate code

given below:

(A) 1, and 3 only

(B) 1, and 2 only

(©) 2, and 3 only

(D) All of the above

With reference to the Trade Winds, consider the

following statements.

1. During winters the North-East Trade Winds
produce extremely high rainfall.

2. The western parts of the Trade Winds are drier
and more stable than the eastern parts of the
ocean.

3. Opposite to the regular pattern, there is an Anti-
trade wind circulation in the upper troposphere.

Select the correct answer using the appropriate code

given below:

(A) 1, and 3 only

(B) 1, and 2 only

(O©) 2, and 3 only

(D) All of the above

The general characteristic features of this wind
system are largely modified due to Cyclones and
Anticyclones associated with them. Because of the
dominance of land in the Northern Hemisphere,
these winds become more complex and complicated
and become less effective during the summer

31.

32.

33.

seasons and more vigorous during the winter
season.

Based on the above characteristics which of the
following wind system is referred to here?

(A) Trade Winds

(B) Westerlies

(C) Monsoon Winds

(D) Jet Streams

Consider the following statement:

1. The Jet Stream is a geostrophic wind blowing
vertically through the upper layers of the
troposphere.

2. Around the equator, in the tropics, warm air
drives the Jet Stream upward.

Which of the statements given above is/are correct?

(A) 1only

(B) 2 only

(C) Both1&2

(D) Neither 1 nor 2

Which of the following is/are correct?

1. When the upper air tropospheric Jet Streams
are positioned over temperate cyclones, the
cyclones intensify and become extremely
stormy.

2. The monsoon of the Middle East is largely
controlled by Jet Streams.

Select the correct answer using the code given

below:

(A) 1 only

(B) 2 only

(C) Both1&2

(D) Neither 1 nor 2

Consider the following Statement:

1. Jets streams play a key role in determining the
weather because they usually mix colder air and
warmer air.

2. When the Jet Streams are warmer, their ups
and downs become more extreme, bringing
different types of weather to areas.

Which of the following statement is/are correct?

(A) 1 only

(B) 2 only

(C) Both1&2

(D) Neither 1 nor 2

O oo
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27.

28.

29.

30.

379 I7ETIT b e | FfeilRad Syl R fdaR &l

1. A @1 & U TH g1 & 915 gaT $WR I&dT &
3R eR1ae & faudia feen & g+ & a1g amuie
g+ 1%y Srerier H i IRl 8

2. 31y g # 9y gRmSH & AT G SRR
IehdTd 394 Bid 8

3. o7y serir Y fadtwar a7 ok uRadfie ua=t
3R 31e1id aTaTaRor 9 81

12 g 7g IugerT e I TN R et SR A

(A) 2, 3R 3 thaet

(B) ohawt 3

(C) ohaet 1

(D) 1, 3R 3 haet

TR yaHi & def &, Fmfafad wu=i iR R &2

1. ARG Ua= I Melleg, | il o7k ofik gfeoft
AT, § arft ok g8 St &

2. UIRkes YaAT & Y 9HT 77 gid & 3R Fehard
T HROT I & |

3. Y R @ WFE R, AURS U= Iieq kg &
q« & el g1

2 g 7T Suged g 1 TERT R Hel SR g4

(A) 1, 3R 3 FHad

(B) 1, 3R 2 dhad

(C) 2, 3R 3 haet

(D) IR b Tt

TR yaHi & deof #, Fmfafed sl o foar &2

1. OEat & RE IR-gdl @muiRe uad srafden
ITIqu| IUF il g

2. AR UeT 1 afYHY 91T AgrEmR & gdtf 9
Y g # e 3R sifdres [RAR g1 81

3. faffg ufowo & foda, o eitwsa § g
faRieft IR ya gRE=RoT giar 81

1 faQ 717 IugerT e vt UANT R Fal IR AT

(A) 1, 3R 3 &Had

(B) 1, 3R 2 &ad

(C) 2, 3R 3 haat

(D) IR goft

39 Uaq UUTTell bt G fasivdrett &t ashardt 8k
3T T3 ufcrasharal & RUT g8 99 R GLniferd foram
T gl S ey § o & Ud & GRU, I g
31fdrep ST g1 SITeht § 8fiR Tt & Haw & &w g gt
STt € 3R Tt & #am F srferes e gt St 81

31.

32.

33.

SR fasiearst & SR R Fefafaa d 9 forg uaa
goTelt ot agt Sefa forar mar &2

(A) TR g+

(B) ufgt ged

(C) AT T

(D) Sic arTg

fFAfafRaa ey = faEr fifsia:

1. Sic 4RI U Jfaeidt uad g St evHsd 6 ol
R} & H1eAH § oidad alfed gidl gl

2. A @ & AEUN, IWT Hicay #, T arg e
¢RT Bl HUR Y R o ST B

IR f&U U Al § @ 9 91/3 9ot 8/87

(A) a1

(B) ohael 2

(C) 1 3R 2=t

(D) dat13RaE2

f=fcfad & € o ar/3 g8t 8/8?

1. 99 IO dg efvHESA S ary gwefidisoT
Tehardl IR T gt &, df Tehara g gt ST &
SR ST T 8 57T &

2. T Yd & AFYA Pl G2 THE W e gRISH gRI
IERIECRCTIRCIG B

12 4T 7Y Fe @1 T R FE S| A

(A) ohae 1

(B) hawi 2

(© 13R2gH

(D) Adt13RAE2

fFefafaa sy ) R Hifs:

1. S R #@w & FuRko § agayefl gffer
ot & eraifes 3 arT=ra: 3t arg ofik i arg Y
At €1

2. o9 Sic YR T gidt &, at 37 IaR-Ted Hfdh
T gl 9 &, O9g fafds uer & dag a=f o
3T S 81

el & @ o9 a3 Fu= g 8/8?

(A) hae 1

(B) haet 2

(C) 13fR2eHt

(D) Tat13Ra?2
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34.

35.

36.

37.

Which of the following is/are Correct?

1. The Coriolis effect and landmasses are two
components that influence the flow of Jet
Streams.

2. The temperature of the stratosphere in winter
can influence the strength and position of the
Jet Stream.

3. The strength and amplitude of the Jet Stream
cannot be affected by the warmth of the ocean.

Select the correct answer using the code given

below:

(A) 1 only

(B) 1&2only

(C) 2& 3 only

D) 1,2,&3

Consider the following statement

1. The onset of monsoon can be predicted by the
northward movement of Jet Streams.

2.  Western disturbances in northwestern parts of
India are the outcome of southwest monsoon
Wind.

3. The Coromandel coast of Tamil Nadu receives
most of its rainfall during Northeast Monsoon.

4. The southern branch of winter subtropical
westerly blows to the south of the Himalayan
peaks along 25° north latitude.

Select the correct codes given below:

(A) 1,3 &4 only

(B) 2 only

(©) 1,2 &4 only

(D) 1 & 4 only

Consider the following statements:

1. The westerly Jet Stream, a cold wind that
pushes downwind to the surface creating low
pressure on the surface.

2. After reaching the Bay of Bengal, westerly
under the influence of Ferrel’s cell takes the
form of northeast monsoon.

Which of the following statements is/are incorrect?

(A) 1 only

(B) 2 only

(C) Both 1 &2

(D) Neither 1 nor 2

With reference to Cryosphere, consider the

following statements:

1. The term "Cryosphere" refers to the entire
frozen water environment, which includes
snow, sea ice, lake and river ice, glaciers, ice
sheets, icebergs, and frozen land.

2. The Albedo of snow/ice sheet is low and plays
important role in solar radiation because
reflects much of the insolation, which helps in

38.

39.

cooling the earth.

3. The cryosphere is an important place for carbon
sequestration because large amounts of carbon
are stored inside these soils in the form of
methane.

Which of the following statement is/are correct?

(A) 1 only

(B) 1& 3 only

(©) 2 & 3only

D) 1,2&3

Consider the following Statement:

1. Tropical cyclones develop in the region
between the Tropics of Capricorn and Cancer.

2. Extratropical cyclones form in temperate and
mid-latitude zones.

3. In the Northern Hemisphere, the winds of an
anticyclone rotate anticlockwise around a
center of high pressure.

Which of the statement given above is/are

Incorrect?

(A) 1 only

(B) 1 & 3 only

(©) 3 only

D)1,2,&3

Consider the following statement with reference to
conditions favorable for Cyclone
formation:

1. Ocean waters having temperatures of 27° C or
more is the source of moisture that feeds the
storm.

2. About 65 percent of cyclonic activity occurs
between 10° and 40° latitude.

3. Low-level disturbances (thunderstorms) in the
form of easterly wave disturbances in the Inter-
Tropical Convergence Zone (ITCZ) should pre-
-exist.

Which of the statement given above is/are correct?

(A) 1 only

(B) 2 only

(©) 1&2only

(D) 1 & 3 only

Tropical

O oo
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34. fA=fafed & @ o 9Q1/8 gt 8/8?

35.

36.

37.

1. IRSMNfY U9 qUT 3[WUS T 9 § Sl S URT
& UaTg Pl T R 8|

2. gféal # gud H8d ST aTgHTH Sie ORT 6l L1fdd
a7 fRAT ol genfaa &R Tepar g1

3. Slc 9rT dI AfRT U I g HI W F
g gt gt Tahd |

2 37 7T Fe @1 v HR gE ST g

(A) haet 1

(B) dhaet 1 3R 2

(C) haeT2 3R 3

(D) 1,2,8R3

fafafad sy w R Hifse

1. S 4RI & IWR F R 7f7 T AFYA & URY g
& fqeraroft Y ST Fendt 81

2. 9Rd & SoR-ufgH amn # ufgeft et gfeor-
OfH AT gaH o1 gRord gl

3. dfMeETg @1 eRHsSd de Siflenier auf gaR
YA o SR T el 8l

4. <fiaerei SuTwrehfedsy 6 gfoft emar 25° 3T
31etier & T fRuTerg i Aifedt & aferor & ugen
g & w9 H yarfgd gidl gl

I fag g 9@t Fet 1 FT R

(A) Faa1,33R4

(B) dhaat 2

(C) haar 1,2 3R4

(D) Had13iR4

fFefefea sy &R iR aie:

1. UGSAT I URT, Ueh &31 I 8 St ddg R i hr
3R sgdferd gt & e gdg R =1 g9 [Afda
gl gl

2. ST Y WrSt H UELT A & U afigw d the
HIfAAT & UHTE H ITR-Ydl AHYA hl Y URUT
PR AdT B

fafafed 7 @ o q/a &y Toa 8/8?

(A) Fad 1

(B) Faa2

Q) 13R23+

(D) Tat13Rad?2

HRIRGRR & e A Ffafed syl R iR fifor:
1. "HEEhRR" e R S gU S gaferur @l
Tefq sear g, orad ath, T a1, giier aur 78

38.

39.

M 81

2. I%/fgH TR @1 Afest YA giar & dur 9R
fafereor & Agayut yftent et & it gafaa
H YR AT &, S gt @ 3T wA H
g T g

3. TAIhIRIR hTeie UesTad o folg Ueh Agaqul &I
& iR Hide o ®U H 34 A & iR ISt A A
SIS STHT §idT gl

fAafofea 8 @ a9 a3 sy= 98 8/8?

(A) haeT 1

(B) dhaet 1 3R 3

(C) a2 3R 3

(D) 1,2 3R 3

fAafafed sy R AR &R

1. SWhicaHT Tehard AR 3R e @1 & o9 &
& 7 faefaa gid &1

2. Sfidiwr Jom Hem ofefixr &A1 A SIATYe
IWehies e TehaTd I-1d &

3. IOt Mend H, Ueh ufoehardid e 3= 19 g
h IRI SR arTad gAdT 8l

IR feU 70 YAl & T i 91/9 Ted 8/87

(A) had 1

(B) et 1 3R 3

(C) thaa 3

(D) 1,2, 3R3

Iwrehfesed aehard AT & oy srggqa aRkffaat

& deof # fAmfafea et R fGarR &

1. 27 foft e a1 S99 Sifde qow™ arern
HETHTRI STel TGl 1 Hld ¢ ST Ol h MfeRT
U el 8l

2. T 65 UfARrd Tehard Tiafafe 10° qur 40°
3&iar & wedr gl &1

3. SidR-IwrhfeE T SifeeRur & (ITCZ) # gdf agr
& ®u § - ety (srifh) ugat @ ufea
gt =g

IR T Y YT & § I 91/9 Tl 8/8?

(A) FHad 1

(B) had 2

(C) dhaa 1 3R 2

(D) a1 3R 3
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40.

41.

43.

Which of the following statements about Tropical

cyclones is/are Incorrect?

(A) Tropical cyclones are known as ‘hurricanes’
in the North Atlantic Ocean and eastern
North Pacific region.

(B) Tropical cyclones are circular winds with a
diameter of 320 kilometers.

(C) Tropical cyclones do not develop Eye, unlike
temperate cyclones.

(D) Tropical cyclones move from east to west and
are associated with heavy rainfall.

In recent times, the frequency of “cyclonic
storms” has increased, which of the following
factors contribute to such changes:

1. Increase in Sea surface temperatures

2. Greater occurrence of El Nifio

3. Stronger winds pressure

Select the correct answer from the option given
below:

(A) 1 only

(B) 1 and 3 only

(C) 3 only

(D) 1,2and 3

Consider the following statements with regard to

the naming of the tropical cyclones

1. The naming of tropical cyclones for any
region across the world is done International
Organization of Legal Metrology.

2. The proposed name should be neutral to
politics and political figures' religious beliefs,
cultures, and gender.

Which of the statements given above is/are

correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

With reference to the Temperate cyclone, consider

the following statements:

1. Temperate cyclones are active above the mid-
latitudinal region in Northern Hemisphere
only.

2. The direction of movement is blowing from
west to east and is more pronounced in the
winter seasons.

Which of the statements given above is/are

correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

44.

45.

46.

Match the correct pair:

Types Features
1. Conrad Separates the upper
Discontinuity: mantle from the

lower mantle.

2. Mohorovicic

Transition zone

Discontinuity: between the crust and
the mantle.

3. Repetti Separates the upper

Discontinuity: and lower crust.

4. Gutenberg Transition zone

Discontinuity: between the lower

mantle and the outer
core.

Which of the pair given above is/are correctly

matched?

(A) 1 and 3 only
(B) 2 and 3 only
(C) 2 and 4 only
D) 1,2,3and 4

Consider the following statements:

1. The asthenosphere is composed of the
uppermost weaker part of the mantle.

2. The lithosphere has a lower density than the.

Asthenosphere.

3. The Seismic waves travel slower in the
Asthenosphere than in the Lithosphere.
Select the correct answer from the option given

below:

(A) 1 only

(B) 2 and 3 only
(C) 3 only

(D) 1,2and 3

According to Continental Drift Theory, which of
the following landmasses was formed North of

Tethys Sea?

(A) Gyachung Kang
(B) Gondwanaland
(C) Laurasia

(D) Chomo Lonzo

L1 ] MAADHY
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40.

41.

42,

43.

Iwikiedia gehardl & IR § fA=fafaa & @ a4

q1/¥ Y Teid 8/8?

(A) IWrhieE e Teharal l I SHecife HERITR
U1 gt I uLnid &9 7 'qEE & w U H SFE
ST 8l

(B) Swrehfesefta aehara 320 fehetiiex & =g areft
J<IThR Ua- g

(C) gmfidteor weharal & faudia, Iwresfesd
TehdTd = f[Aehiad gl hid 8l

(D) SreRfeseta Tahara gd & UfgH Fi 3R SRR
gid & JUT 9 auf ¥ & 8

BT & et #, "aghardt gl B sgf A gfg g
g, Feffed d @ a9 @ aR& 89 uRadHi & are
& 8
1. 9g HI 9dg & IIAH A gig
2. 37 At &y erfden geAr
3. g uaHl & ga g
2 e 7Tg et & € WEt SR g
(A) haa 1
(B) haet 1 3R 3
(C) Faet 3
(D) 1,2 3R 3

JWhiedea Teharal & AERUT & TaYg H

fAfofea sy R fdar &R

1. gfar R A et oft &3 & foig Swrefededy
TehaTdl ahT ATHERUT e SNHISSIRM 3Hth
TeT Aetarstt gRT fhar Srar 81

2. UAIAd 9W IS JAT ASTHide gieadl &
efHien fosyTat, Seepfaat Td foft & ufd dewr g
3TN

IR T ¢ YAl & § i 91/9 T8t /87

(A) haet 1

(B) hadt 2

(C) 18R 2 gt

(D) Fat 1 3fRAE2

Lfiateor Tehara & e # Ffaied sl &) AR

FHifea:

1. GAAAIST dehald hael Sl Merd & HeA
iz & & SR Gfeha g1a &

2. wfq <t fesm, ofgw @ qd o ek yarfed gt §
Jur i g # sifdes e gidt 81

IWR feU T Al § T i 91/9 Iat 8/8?

(A) haet 1

44.

45.

46.

(B) e 2
(C) 1 3R 2 &t
(D) Fat 13RI 2

g TS o1 fre e
UehR

1. HATE

el

2.mgRifaRes

SeIGT

3.3

S eGdT:

4, TR

ST

IR Ry T g & § sw-a1/3 98t gafea 8/8?

(A) Faa 1 3R 3

(B) dhaat 2 3R 3

(C) dhaa 23R4

(D) 1,2,33R4

gfaard
I Heat dt et Hea @
e xar 8|
e 3R Heat & o9
GehHT & |
IR SR et ohe it
37T T g |
faet fea quT IR PR F
HeZ TehHUT & |

f=fcfed syl R feR &

1. GIAAHUSH Hed & U T HHAGR AN &
CEIN]

2. IAAUSH H GEIATUSH chl JolT H FAdH T
gt 8l

3. YUY q9 RIAHUSH chl g1 H gaaiariusd |
ofiet 1fqy & e et §1

2 feg 77 faeedt & € 6t SR g

(A) hae 1

(B) haet 2 3R 3

(C) et 3

(D) 1,233

qeTgdia yarg Rigid & ogaR, Fefafa & @ e
T YT A IR & IR | o7 AT?

(A) T T

(B) MsaFTis

(C) @mRfAar

(D) = AT
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47.

48.

49.

50.

Consider the following statements:

1. Convergent boundaries can occur between
oceanic and continental plates, or between
two of the same plates.

2. Himalayan mountains were formed due to
divergent boundaries between oceanic and
continental boundaries.

3. Mid-Atlantic Ridge is a classical example of
Convergent boundaries.

Select the correct answer from the option given

below:

(A) 1 only

(B) 2 and 3 only

(O) 1 and 3 only

(D) 2 only

With reference to Circum pacific belt, Consider

the following statements:

1. The abundance of volcanoes and earthquakes
along the Circum pacific belt is caused by the
amount of movement of tectonic plates in the
area.

2. The region of the Circum pacific belt has
more than 450 active and dormant volcanoes.

Which of the statements given above is/are

correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements with regards to

seismic zones/ing:

1. The seismic Zones V is seismically the most
active region.

2. Seismic Zoning is expressed in terms of peak
horizontal ground acceleration (PGA).

3. Seismic Zonation map of the country (state-
wise) given by India Meteorological
Department.

Select the correct answer from the option given

below:

(A) 1 and 2 only

(B) 2 only

(©) 3 only

(D)1,2and 3

Consider the following statements:

1. Temperate cyclones have characteristics to
develop over both oceanic and land surfaces.

2. A tropical cyclone has a low-pressure center
and clouds spiraling towards the eyewall
surrounding the "eye".

Which of the statements given above is/are

correct?

51.

52.

(A) 1 only

(B) 2 only

(C) Both 1 and 2
(D) Neither 1 nor 2

Consider the following statements

1. Magma can rise when pieces of Earth's crust
called tectonic plates slowly move away from
each other. When this happens, underwater
volcanoes can form.

2. Volcanoes along the divergent boundaries are
mostly basaltic and less violent.

3. Volcanoes along the continental margin are
andesite and very explosive, where Continent
-Continent Collision zone are entirely
volcanic in nature.

Choose the correct code:

(A) Only 1

(B) Only 1 and 2

(C) Only 2 and 3

(D) All the statements are correct

Consider the following statements

1. These are large collapse features that can be
many miles in diameter.

2. They form during especially large eruptions
when the magma chamber is partially
emptied, and the ground above it collapses
into the momentary void.

3. Crater Lake and Aniakchak Crater are classic
examples.

Which of the following volcanic feature it is

talking about?

(A) Volcanic Vents

(B) Calderas

(C) Craters

(D) Kimberlites pipes
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47.

48.

49.

50.

fAafafad syl R AR &1

1. ifIT DA gerarR 9T Fegd wel &
Heg, 1 & YA Wiel o Heg gt Yohel &1

2. feurera uda o1 Aafor agrarRi gur ggigda
Harsri & & 9T dimrsit & uRumsy gan
gl

3. Aw-3fedifeen dhedh AMHERO HHATSH & Tah
SHE JETET 8

=2 Ry 7 fasheat & @ w8t SR g

(A) a1

(B) haet 2 iR 3

(C) haer 1 3R 3

(D) Faet 2

gFhH AfAfthas dee & deof #, FfafEa sl w®

AR &<

1. G Oflfthe deT & &5 | SaTargE auT ey
& ggad "AE SRIFE Wl foafa &
gRumAaEY gidt g1

2. Tohn Uffthe see & &9 # 450 ¥ 3ifdes afthg
JUT I SATARLE &

IR o U Al A @ 9 91/3 Got /87

(A) dhad 1

(B) had 2

(C) 1 3R 2 gt

(D) At 13RS 2

Jehdlg &5t & ey 7 AEfafed eyl o iR o

1. Yhdlg &7 V et U 4 qad afeha &5 81

2. il &5 @t 9 @fas S @R qeRn
(peak horizontal acceleration) & ®u ®
o TR ST 81

3. 3= YhUT &3 AHRE (ITYAR) R HEH
o favm gy e mam

I fag 71y Repeat 7 @ @6t SR gRw

(A) Shaet 1 3R 2

(B) ohadt 2

(C) ad 3

(D) 1,23k 3

fAafaf@d syl R AR &1

1. GuLfidTSoT Iehard! & TELT a1 fF & Odsl i)
fafaa g i fAivard gt &

2. Ueh IWTehiesdI dshard H Ueh gH a9 ol e
giaT & qUT qIeet "I o STU o AATTeADh
& R uRd gla &1

51.

52.

IR feU T YAl § T 9 91/9 Tat 8/8?
(A) FHad 1

(B) had 2

(C) 1 3R 2g=f

(D) TFat1sRaE2

f=fafed el R feR &

1. HHI 99 §¢ ehdT & ST Sl eh &ie ATH et
hI the & @ug dR-4R Toh TR § g Tt oIrd &
=9 fohaT & uRUTHRERY 57t & I SaTerm !
It g Fehdt 81

2. g dmmef & iy SaemE STeR
J9Tee & gord 9T A fadeh gid 8l

3. HEENE dimr & Gy sl vgemEe aut
& Upfa & gt e O saremgdt fAfifa war g1

el B TH:

(A) Fae 1

(B) Shaet 1 3R 2

(C) haar 2 3k 3

(D) I+t Ty TEt §

fAefeifEa sy R foaR &2

1. 3 gg< &rol Fi fAAVATE § St g F sk Hiet
gl Tardl &1

2. 3fav=U 9 93 fowmle & R Affa gia & 5w
BT e 3fifRYeh T F Wil gt STIaT §, 9T 39
SR hY eRTdeT TR gt ST &1

3. thex il dur sifeme thex (Aniakchak
Crater) SchE IaTE0T 8

gg fefafea & 9 fog saemEin werepfdes

favar Far A &2

(A) SaTemE! de

(B) @1

(Q) shex

(D) forreemse ursy
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53. Choose the correct pair

Types of | Definition with Examples
Mountains

1. Volcanic | When tectonic plates move
Mountains about, volcanoes are
formed, and when volcanoes
erupt, mountains are formed
in turn. For instance- in

Vesuvius
2. Fold The raising of a fault block
Mountains leads to the formation of fold

mountains. Higher blocks
are called horsts and troughs
are known as grabens. For
instance- the Sierra Nevada

range
3. Block These mountains are created
Mountains where two or more of

Earth’s tectonic plates are
pushed together. For
instance- the Himalayas

4. Residual Through erosion of an
Mountains elevated area residual
mountains are formed For
example- the Scandinavian
Mountains.

Choose the correct code

A.

B.
C.
D

All four pairs are correct
Only one pair is correct
Only two pairs are correct
Only three pairs are correct

54. What is common to the places known as
Amarkantak, and Mahanadi?
(A) Recently discovered uranium deposits
(B) Tropical rain forests
(C) Drainage Pattern
(D) Water reservoirs

55. Co
1.

nsider the following statements
Estuary refers to the waterbody, along the
coast, that are formed when freshwater of the
river meets the salt water of the ocean,
whereas Delta refers to the landform that is
formed by river-borne sediments deposited at
the river mouth when it joins the sea.
Estuary is triangular in shape whereas Delta
is a funnel in shape
The region near Estuary is fertile whereas the
Deltic region is not fertile.

Which of the above statement is/are incorrect.
(A) Only 1
(B) Only 2

56.

(©) 1 and 3 only
(D) 2 and 3 only

Consider the following statements related to the
Inversion of Temperature

Types of | Definition

Temperature

Inversion

1. Valley It is formed when cold air

inversion at the hills and mountains,
produced during the night,
flows under the influence
of gravity.

2. Frontal In this, the warm and cold

inversion fronts meet, then the

warm front rises up, and
being heavier the cold
front sinks down.

3. Subsidence | The temperature inversion
inversion commences at the surface
of the earth or the se(A)

Choose the correct code

(A) All pairs are correct

(B) Only one pair is correct
(©) Only two pairs are correct
(D) Only three pairs are correct
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53.

54,

55.

et st g

gddal & wehR | 31801 & g1y gy

1. M@ | 59 R e fd el § at

gdd ST fFafor et € qur sie
STt fawmte gtar & ot uda
fAfffa gid §1 Sareeor & fag
Agfow

T WS & I3 ¥ aferd gddi ar
fAafor gtar &1 S =ATah! ot g
3R 77 hl Fa=T gl ST B
IETET o folu- Q=T Aarer I
g udd ggi [Afd gid & STef geelt
Fi <t a1 g} T 31fdeh el wid
Qeh TTY eehel &1 STt § 1 ISTE0T
& forg- feareg

4.319fe udq | fhdft F2 &5 & SruReT § SEafE
Tddi ant fRHTor g1 81 SST8<0T
fog- @hfgAfaars udal

2. gfeid udd

3. sdieh udd

el e g

(A) Toft SIS wgl €
(B) haet 1 SIS wal @
(C) dhaet 2 SN2 e &
(D) heret 3 SIS Wal &

3MReheeh 3R AT & A & S ST aTel A1 § T
AT 87

(A) BT 81 & @iot g T & HER

(B) Swrhieseta qufa

(C) Tt SUaTg URey

(D) ST o STATRRT

T syl R farR &

1. SARAGHE I & ATY-H1Y STef ek ot
Tefd a1 g, St 9 Fffa gt & sie 3¢t a1 arer
ST G & @R ST 9 fAerar g, siafe Seer 39 4-
3ATepfdl eht HafHd ehdT g St AT o g UR STHT g
arett sradre 9 i gt 8, S1a ag wie A e 81

2. HgH I 3R # Benivfia g safe S R # g
e (SRIgAT) 8

3. SARACHE ¢ UTH I &3 USITS & Sidich Scel &
IUSTTS: 8l 8l
SWIT # § i A1/ o Tad &/8 |

(C) haeT 1 3R 3
(D) haet 2 3R 3

56. AU & HehAUT ¥ Hefdd fmfafad syl wR foar

T4

gRyTeT
faewar &

1. 91él g ag RAffagdgSaTash
3R ydd 3R Ugl8 R 331 arg
TEATRYUT & UHTq # gaTfed

gt 1

=g 7 3R 2 g fAerd €,
fORR IW0T 1A TR I&4T & qUT
IR 11t & HRUT 38T aIdRT A
& 3R Sradferd gt ST 81

2. 91

3. Sader di | AT ot gt a1 99g &
farettar Hdg W URH g1 81

el He g

(A) gt gm T8l §
(B) et 1 TSt et &
(C) haet 2 TS Wt &
(D) e 3 ST gt &
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57.

58.

59.

60.

Consider the following statements

1. It causes the instability of the atmosphere that
stops the downward and upward movement
of air.

2. Convection clouds can not move high
upwards so there is less rainfall and no
showers.

Choose the correct answer using the code below?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements

1. Incised or entrenched meanders, which are
mostly found over floodplains and delta
plains where stream gradients are quite
gentle, are meanders that are very deep and
wide that are created by cutting hard rocks.

2. A knick point is a part of a river or channel
where there is a sharp change in channel
slopes, such as a waterfall or lake.

Choose the correct answer using the code below?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements

1. The landforms like Esker, Erratics and Roche
Mountonnee are the landforms of lowland
glaciation.

2. Landforms like Bergschrund, Aretes, and
Moraines are the landforms of highland
glaciation.

Choose the correct answer using the code below?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements related to

Troposphere

(1) The thickness is least at the poles and greatest
at the equator.

(2) As Convection currents flow from the poles to
the equator due to a heat differential on the
planet's surface.

Choose the correct answer using the code below?

(A) Only 1

(B) Only 2

(C) Both 1 and 2

(D) Neither 1 nor 2

61.

62.

63.

With reference to the Salinity of Oceans

considered the following statements:

1. The ocean between 20°N and 30°N latitudes
has more salinity than the temperate latitude
ocean due to a higher rate of evaporation
(because of high temperature).

2. Isothermal is a line on a map of the ocean
connecting all points of equal salinity.

3. There is a recent trend of increasing Salinity
in the North Atlantic Ocean.

4. Temperature and Rainfall are key factors
deciding the salinity of an area.

Which of the statements given above is/are

correct?

(A) only one statement is correct

(B) only two statements are correct

(C) only three statements are correct

(D) all the statements are correct

Consider the following statements about the

Fronts:

1. when cold air is moves towards the warm air
mass then the zone is called a Warm front.

2. when warm air mass moves towards the cold
air mass then the zone is called a Cold front.

3. In Tropical cyclones, there is an occurrence of
the frontal system.

Which of the statements given above is/are

correct?

(A) 2 only

(B) 3 only

(©) 1 and 2 only

(D) All the statements are incorrect.

Consider the following statements regarding

ocean relief features:

1. Mariana trench in the Atlantic Ocean is the
deepest trench with a depth of more than 11
km

2. Seamount is a mountain with a pointed
summit whereas Guyots is a flat-topped
Seamount.

3. Massive sediments are found on the
continental shelves which become the source
of fossil fuels.

‘Which of the above statements is/are not correct?

(A) 1 only

(B) 1and 2

(©) 1,2and 3

(D) 2 and 3 only
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57.

58.

59.

60.

T Al R foaR &

1. Ig IIgHSH chl AT T HRUT IT &SIt a1g
& T 3R TR FY 3R ST Y AehelT B

2. Gdgd d1ee HWR i 3R g1 ST b @ il
i A gidl & a1 auf gt gidt g1

=2 37 77T Fe a1 v R get ST IH?

(A) FHad 1

(B) &aet 2

(C) 1 3R 2 gt

(D) a1 3RA82

fAafafed syl &R AR &

1. I g I1 Ifet gU fadd, St SR a6 &
FeHT SR SeeT &AMl B UIY S1d & Saf °RT
TauTaT Sl wiad gidt &, 08 fagd g1a € st
TG TER AT NS Bl § Sl hoR I ehi ehlcehy
faffa forg sma €1

2. U Fep @1 Qo <Y AT I ohT Qoh (& & Sigt
T Al B dig gRadE 8T 8, S SR A
gfiel

12 faQ 7T e @1 gIT AR et SR A2

(A) a1

(B) had 2

(C) 1 3R 2t

(D) a1 3iRAE2

fAfafea sy w far e

1. TR, R ok 79 germ St of-srepfaat avig
& ferTeaTed &l o-snefadi

2. YUE, 3R, R ARA Y -3repfadr 3= YA
fRATesTe &l -3t &1

2 faQ 7T e @1 oI R et IR A2

(A) had 1

(B) had 2

(C) 18R 2 3=t

(D) Fat13RAT82

efhirse ¥ Jafda F=faf@d s R R &R

1. HierE gal R T o iR gHe @ R qed
31 gt g1

2. Ug hI gag R THT & 3R & HRUT Gag- &RIE
¢at & A [T hY 3R Uariad gidt &1

2 37 77T g 1 vl R get ST IH?

(A) had 1

(B) Fadt 2

(C) 1 3R 2 g+t

(D) a1 3RA82

61.

62.

63.

HENITRI ch! AGUIdT & e # fAmfofEa ol w

R foram mar &:

1. arsftexor Fi I &R (I U & BROT) &
HRUT FHLMAST Srerir AETR I ger H
20°N 3R 30°N sefianf & &g & JgEFR |
31fdes AgoTaT 8|

2. SSHIYH (THATY I@T) AEFR & AHRT R
Ueh X1 & S AW gurdr o gt foigst ot
Aot &1

3. IO Sfedifesh HENTR | AGUAT dg+ &l U
giferan ugf &1

4. JYATE JUT quT fohdft & chl TIUTdT 9 e aret
U@ &R g

IR fou U Syl 7 @ T 91/9 9t 8/8?

(A) FaeT 1 HAH TE

(B) had 2 U @l &

(C) had 3 Y= Tt &

(D) Tft U TE

gran & IR # fFafaf@d syl R AR o

1. o9 38t arg T arifrEt Bt SR ged sifde
gicit & 3T &1 ol I0T AT e &1

2. e T IR Gt argRiiRat Y 3R venfed gt
2 dt 39 &5 &t 2fid aran e 2

3. Iwrehfeadfia aehardi H, aIdRT HOTett hl geAT
gt 1

IR T 1Y T | § I 91/9 Tl 8/8?

(A) had 2

(B) a1 3

(C) thaa 1 3R 2

(D) gt = TTerd B

HENTRY It fafiwarstt & d9y # fA=fafaa

FHY TR faR &

1. 3t AR & ATRAmT Td qad 7gd 7d &
o e 11 freft @ aifdren &

2. e geh T fRIeR arett uda & Stafes mated
Uch gUTe-aiél arer e gl

3. e deise HETEIMg IHad R U SI1d § o
Sfraree $u=1 1 Fid 99 S 8|

ST HYAT § § B 91/8 98 76 2/

(A) haet 1

(B) 13R2

(C) 1,23R3

(D) thaadt 2 3R 3
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64.

65.

66.

67.

Xerophytic vegetation is natural vegetation in

desert climates that is resistant to drought. which

of the following are the adaptive features of such

vegetation?

1. Leaves are absent or reduced in size or thorns
in place of leaves.

2. Leaves and stems are succulent and water
storing.

3. The root system is well-developed and spread
over a large area.

‘Which of the above statements is/are not correct?

(A) 1 only

(B) 1and 2 only

(©) 12and 3

(D) None

Consider the following statements with regard to

Temperate and Tropical Grasslands:

1. Annual rainfall varies from 25-50cm in the
Tropical grasslands whereas it ranges from
50-130 cm in the Temperate grasslands.

2. Prairies are known as the Granaries of the
World.

3. Pampas of Argentina and the Velds of South
Africa are examples of Temperate grasslands.

Which of the above statements is/are not correct?

(A) 1 and 3 only

(B) 1 and 2 only

(C) 1,2and 3

(D) 2 and 3 only

Consider the following statements regarding

Ocean currents:

1. Trade winds and the existence of Doldrums
have caused water to accumulate in the
western Pacific which led to the formation of
the Counter Equatorial Current.

2. The zones of upwelling have high biological
productivity.

Which of the following statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements regarding
Geysers and Hot springs:

1. Hot springs are violently ejecting water from
the earth's surface, whereas Geysers are
simply naturally occurring water bodies that
have been heated by geothermal activity.

2. Almost all the world’s geysers are constricted
to three major areas: Iceland, Yellowstone
Park of the U.S.(A), and New Zealand.

Which of the following statements is/are correct?

68.

69.

70.

(A) 1 only

(B) 2 only

(C) Both 1 and 2
(D) Neither 1 nor 2

With reference to the water on the planet Earth,

consider the following statements:

1. The amount of water in the rivers and lakes is
more than the amount of groundwater.

2. The amount of water in polar ice caps and
glaciers is more than the amount of
groundwater.

Which of the following statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

Consider the following statements regarding

Climatic regions of the world:

1. Mediterranean Climate is characterized by
dry, warm summer with off-shore trades and
Rainfall in winter with on-shore Westerlies.

2. British type of climate is most pronounced in
the Asian subcontinent.

Which of the following statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 and 2

(D) Neither 1 nor 2

This is a local wind that blows in the winter season
in North America due to its hot temperature
melting the snow and making pasture land
available for the grazing of animals hence it is also
called snow eater. which of the following wind is
described above?

(A) Sirroco

(B) Chinook

(C) Mistral

(D) Foehn
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64.

65.

66.

67.

RieEfed gl Feerelly Sy # Ulepfda

gawfd & S @ & fog ufoRieh 81 efafea 7 @

I 9t Tt aeeafa Y cpett [AEATE 87

1. ufal gufed a1 smaR 7 |8 a1 ufat &
T W Pi¢ gid 8

2. it ud a= et U ST 99 i aTet gid 8|

3. SIS UUTett 3t akg O faafla g sk uar a8 &
# fagd g 81

SWRIT Yl & F i 1/ et 781 8/87

(A) a1

(B) dhaet 1 3R 2

(C) 1,233

(D) 379 @ IS &l

gufidqisor quT Ikt o & A<l & day &

fAafafRd syl R AR &

1. Iwkieady a9 & Al # arftfes awi 25-50
gt & geg gidt & siafh fiator o & A &
Tg 50-130 It & Te7 giclt 81

2. BRI &l g & 9/ HER & ¥U H ST ST
gl

3. ISIEHET & T R &feur Snhiel & des
<fiateor a9 & AT & IaeT 8l

IRITd Hyl & § i 1/ et Tl 6/8?

(A) Fadt 1 3R 3

(B) dhaet 1 3R 2

(C) 1,233

(D) haer 2 3R 3

AETRIT URIST & 96y # FEfafgd sl w®

AR &%

1. AUIRSe ga+ 3R slagh & ifdd & PR
ofyet geriq &5 & SeT STaT 8) T & g hRoT
gfafyadia oR1 (PR sHARIA &) o
fetor gsm

2. IUafelT (ILge) & &1 § Ioa Sifddh SaTahdT
gid 81

fafafea & @ a9 qv/d wy= 9g 8/8?

(A) FHad 1

(B) Fadt 2

(C) 1 3R 2=t

(D) 9t 1 3R 2

g3R (Geysers) 3R gle & (Hot springs) &
ey 7 Fmferfed syl = fGaR &

68.

69.

70.

1. gle f8F (Hot springs) geat &t ¥dg ¥ dtear
9 S e @ € Sefh 43R (Geysers)
Uipfcieh &9 & Y ST aTet oIt Hehrd ¢ ol
Tt fafafer grr 7 forar mam 81

2. gfvar & @ @t et (Geysers) diF UHE
&3} e WA &: ST, USA o deiiRele uteh
3R gefidis|

f=feifEa & @ & 91/3 sy 98t 8/87

(A) haet 1

(B) %aet 2

(C) 18R 2 g+t

(D) Fat 13RI 2

gedt 78 R I & de A rfafEa syl i faer

Fifog:

1. aRal ok sfiet & St Y 7T Yoiet it AT @
31fden g1

2. ydia fgw &y Aifeat ok fgawal (Glaciers) & 5ie
Y HTAT STeT hl 7T O 319 g

ffofea 8 § a9 q/a wy= 98 8/8?

(A) haeT 1

(B) thad 2

(C) 1 3R 2 gt

(D) Fat1siRAS2

Iy & Serarg & & day | e dyE W)

frar &

1. AEEIREY Sidarg # U AURY & 91

Iseh, T UisHeRel SR dead! ufgHt get & @iy

gféat & auf fi fagivar gidht 81

2. UframE IuHEIEIT # foifesr UeR i Sierarg aeet
31fdep e gl

f=fafEa § 9 o 9v/3 sy 98t 8/87

(A) haet 1

(B) thad 2

(C) 1 3R 2aHf

(D) Fat13RA52

g Toh QT ua § o St omRepr & aféat &
oag § oo M argHTE & HRUT 9 ot fEe ek
SRl & T & g IReTE A Uy awH &
HRUT Ul & g9leig 38 fer wereh ot gt SirdT g
fA=fafEa § @ forg uaa o1 gofa SR fovar man 82
(A) et
(B) frie
(€) A

(D) wiT
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71.

72.

73.

74.

Consider the following statements about Atlantic

Meridional Overturning circulation (AMOCQC):

1. Itis one of the significant systems of Ocean
currents that is driven by the differences in
water density.

2. It is showing exceptional weakening in the
last 150 years due to Global Warming.

3. Gulf Stream is a part of the AMOC.

4. Tt plays a critical role in regulating weather
patterns and redistributing heat around the
worl(D)

Which of the above statements is/are correct?

(A) 1 and 2 only

(B) 2, 3, and 4 only

(O 1,2,3and 4

(D) 2 only.

Consider the following statements:

1. Tidal bore occurs in Gulf with wide fronts and
narrow rears.

2. Kolkata port is made navigable by the tidal
bore occurring in the Hoogly river.

3. Moon wobble does not have any impact on
the tides on the Earth.

‘Which of the above statements is/are correct?

(A) 1and 2 only

(B) 3 only

(O 1,2,and 3

(D) None of the above

Consider the following mission:

1. O-SMART is related to bringing smart
technology to the agriculture sector.

2. Deep Ocean Mission is a mission launched by
the Ministry of Fisheries, Animal Husbandry,
and Dairying to support the Blue Economy.

3. Deep Ocean Mission is about harnessing deep
sea mineral resources.

Which of the above statements is/are correct?

(A) 1and 2 only

(B) 3only

(C) 1,2,and 3

(D) None of the above

Consider the following statements:

1. Corals act as an important indicator of Global
Warming.

2. The Great Barrier Reef is a UNESCO world
heritage site.

3. India does not have any coral reefs.

Which of the above statements is/are correct?

(A) 1 and 2 only

(B) 3 only

(©) 1,2,and 3

(D) None of the above

75.

76.

77.

78.

Consider the following statement:

1. Marine heat waves are the heat waves that
blow for the hill areas during the summer
season.

2. Itled to the occurrence of Coral bleaching.

3. The Indian Ocean is witnessing the reduced
Marine Heat Waves event.

‘Which of the above statements is/are correct?

(A) 2 only

(B) 3 only

(©) 1,2,and 3

(D) None of the above

Consider the following statements:

1. India shares the longest international border
with Pakistan.

2. New Moore Island is claimed by both
Myanmar and Bangladesh.

Which of the above statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both of the above

(D) None of the above

Consider the following statements concerning the

Himalayas.

1. Itacts as a perennial source of water for
Peninsular rivers.

2. Itacts as a barrier to the cold winds coming
from Central Asia and also helps in sustaining
the monsoon in India.

Which of the above statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both of the above

(D) None of the above

Which of the following statement regarding

Aravallis is correct:

(A) Tt is of recent origin contemporary of the
Himalayas.

(B) It runsthrough Gujarat, Rajasthan, Haryana,
and Delhi.

(C) It is one of the biodiversity hotspots of the
World.

(D) It contains west flowing river which passes
through a rift valley.

AL
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71.

72.

73.

74.

Jedifees ARfSTTa sfiaref i Tgheir™ (Atlantic

Meridional Overturning circulation) (AMOC)

& IR # Ffafea wual w far &

1. I8 WETHTRIG URTSHT hl Ageayquf yonferdai # 4
Teh &SI 5Tl & e & Siek § Gannferd gl 81

2. Tg yHSeta e (Global Warming) & ROt
fUset 150 auf § SR U & HHSIR US @7
gl

3. e ¥ AMOC &7 Ueh 9T 8

4, 9g "\ & ufawy &t fafafig s ok gfar
R H THT & gAfdaRoT F Agayqut fient M
gl

SWRiad YAl # & hiH-91/3 Tal g/8?

(A) 1 3R 2 dhaet

(B) dhae 2, 3 3R 4

(C) 1,2,33R4

(D) had 2

ffafEa sy R AR =

1. SR R (Tidal Bore) @rel & faxgd
drrent ofRk &hivf g8 (narrow rears) @
gy g1 8l

2. gl 98 # g ad SaRig aR @ hicTehldn
SEITTE ! Flag TR I14T T4 8

3. <IgHT &1 gt & IR SR gHAT edt R S dTet
SIR-TeT R hig U gl STeidT 5

SRITd Syl & T -1/ Il 8/8?

(A) 1 3R 2 dhaa

(B) %aat 3

(C) 1,2,k 3

(D) Suwer & § S et

ffofea A ) AR &2

1. 3N-WTE (O-SMART) St &5 H T1E dehriieh o1
g gafda gl

2. 3l 3= MAE (Blue Ocean Mission) et
3rfeaeAT (Blue Economy) chl SgRIdT it h
oy A urer, uyueE $R STt HATe gRI
I fohar T ge Sifaam 81

3. S 3iA A TR whg | @ie 9t &
glg 9 Tefad g1

SR YAl & § hIH-T1/3 Tl &/8?

(A) 1 3R 2 dhad

(B) &a<t 3

(C) 1,2, 3Rk 3

(D) Iuderd | Y oIS gl

fafafed syl R AR &R

1. "uaem  (Coral) o#sel@  dm=  (Global
Warming) & Geh Agaqul Hchdeh & ¥4 H il
Fd B

2. T¢ IR A% (Great Barrier Reef) g%l &l

75.

76.

77.

78.

fay sRIgR A B

3. YRd H &ls yard AT 761 8

IWRIad YAl | § hiH-T1/3 T8l 8/8?

(A) 1 3R 2 Faer

(B) &had 3

(C) 1,2,3R3

(D) S | ¥ IS g

fAafaf@a YA R faar &

1. TUL SOAT a9 I FWAT a< gidt & St T d
Hiew & ugrel il Y ik e gt &1

2. 399 yare fadsH (Coral Bleaching) &t et
gidl 81

3. fog AgTamR &H THdl THT Y @18 Y gear &t
ST 81

IR YAl | G hiH-T1/3 T8l 8/8?

(A) had 2

(B) a3

(C) 1,2,3R3

(D) SWier & § S et

fA=fafEa sy R R

1. R UIfchedT™ & TTY TaY el Ha=RIerg T
GIEIETGIE

2. YR EU R AR R AR 41 T &rar &

Wi YAl & § hiH-T1/3 T8l 8/8?

(A) hae 1

(B) thad 2

(C) SWied gt

(D) Sugad & ¥ S el

fearera @ gefda fmfefea sy ©R faar &2

1. U8 UG AR o STdl o SR Aid o &4
# R T Bl

2. ggH QR 9 311 arelt S8t UeHic & feRiuch
% &0 # i el g 3R YRd | AFYH ohl I1g
e | ot ggraar axar gl

SWRad YAl & § hiH-T1/3 9gl 8/8?

(A) haet 1

(B) had 2

(C) SuRited gt

(D) U # T I et

3RTTet o dae H FfoilRea & ¥ & 91 Sy 98l &

(A) Tg feuTera i Iaf & g &l

(B) dg ToRd, IoeA, gRamom iR feeelt & gl
oA 81

(C) g gf-am & Siq fafaear aw wiet (Biodiversity
Hotspot) # & Ta &1

(D) 3TH ufgyw &t 3R yarfed g areft gt & it Uah
41 °7dl (Rift Valley) ¥ g ToiRd 81
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79.

80.

81.

82.

Consider the following statements:

1. Maikal Range forms the boundary between
Maharashtra and Madhya Pradesh.

2. Pachmarhi Biosphere Reserve lies in Satpura
Range.

Which of the above statements is/are Incorrect?

(A) 1 only

(B) 2 only

(C) Both of the above

(D) None of the above

Consider the following statements concerning the

Ganga River system:

1. Badrinath is situated on the banks of river
Mandakini.

2. Devprayag is on the confluence of Alaknanda
and Mandakini.

‘Which of the above statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both of the above

(D) None of the above

With respect to the longitudinal divisions of the
Himalayas which of the following is/are
correctly matched:

1 | Central Himalayas Mt Everest
2 | Eastern Himalayas Mikir Hills
3 | Kumaun Himalayas | Nanda Devi
4 | Kashmir Himalayas | Karakoram
Range

Choose the correct answer using the code below?
(A) 1 and 2 only

(B) 2, 3, and 4 only

(©)1,2,3and 4

(D) 2 only.

Consider the following statements with respect to

the Physiography of the Great Plains of India:

1. Bhabar Plains lies north of the Shiwaliks and
consists of marshy tracts.

2. Terai region lies south of the Khadar Plains
having younger alluvium.

3. Bangar Plains are formed by the deposition of
older alluvium.

Which of the above statements is incorrect?

(A) 1 and 2 only

(B) 3 only

(©) 1,2,and 3

(D) None of the above

83.

84.

85.

Consider the following statements with respect to

Peninsular Plateau:

1. It has massive reserves of Coal.

2. Well-known hill resorts like Mussoorie and
Auli lie here.

3. The presence of Black soil makes it suitable
for the cultivation of cotton.

‘Which of the above statements is correct?

(A) 1 and 2 only

(B) 3 only

(©) 1 and 3 only

(D) None of the above

Consider the following statements:

1. Himalayan rivers form Meanders while rivers
of Peninsular origin follow a straight course.

2. Both the Himalayan and Peninsular rivers are
perennial.

3. Himalayan rivers are more mature than
peninsular rivers.

Which of the above statements is/are correct?

(A) 1 only

(B) 3 only

(© 1,2,and 3

(D) None of the above

Consider the following statements:

1. Mahanadi, Godavari, Tapti, and Krishna are
the East flowing rivers.

2.  West-flowing rivers of Peninsular India form
deltas.

3. East-flowing rivers of Peninsular India
developed a large number of tributaries.

‘Which of the above statements is/are correct?

(A) 1and 2 only

(B) 3only

(©) 1,2,and 3

(D) None of the above

AL
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79.

80.

81.

82.

fFafafaa sy = R &R

1. #oa goft AgRTE SR Ay U3y & Heg AT
AT B

2. ygHd Sadsel @ (Biosphere Reserve)
gager soft # R 81

IR & @ B T1/T HY TAd /8?2

(A) hae 1

(B) dhae 2

(C) SR gl

(D) S & @ ¥ gt

T T UOTIe! @S9y # el eyl i) fGaR

CT8

1. FEHTY HeTfch-t AT & d¢ IR [ 81

2. SaUATT 3eAd-ar 3R Halfch-T & TTH WR 1

IR Yl & F BH-T1/T T &/8?

(A) a1

(B) had 2

(C) SR gl

(D) Suer & § ¥ et

ferTera & srged favrori & ddu d =fafea 7 @
1= 91/9 ggl gaferd 8/8:

1 | 7ex fowTerd | A GaRE
2 | o e | R e

3 | ar &t
ferTera

4 | iR
ferTera

I faQ 7T e @1 oI R et IR gA?
(A) 1 3R 2 dhad

(B) &hadt 2, 3 3R 4

(C) 1,2,33R4

(D) hadt 2

HRTh R Zuft

YRd & A HaMl ol wimfee R_fa & d9g &

fAafafaa syl ) faR &=

1. 9eR &1 BeH Rarfersd & 3R & f[@¥a g ok
EAGel! &A1 O FT 8

2. W &F T STelte dret @reR AeMl & fgor &
T gl

3. R Sl o MEuor & aR #a o1 AT gian
gl

SWIad & ¥ i 9T U Teld g7

(A) 1 3R 2 dhad

(B) haet 3

(C) 1,2, 3R 3

83.

84.

85.

(D) Iuger & § A Tt
UG UsR & day # Aefafad syl w e
E"ﬁ"

1. 399 STt &l YR 9SSR g1

2. A IR el S8 uRig dgTst wied I« gt
g g

3. et 7&T &t U 38 U™ ol Wdt & g
UG ST Bl

SWied & & i 9T U Tal 8?7

(A) 1 3R 2 Faer

(B) &had 3

(C) thaa 1 3R 3

(D) S0 | 4 IS 7@

fAafafaa sy ) farR &2

1. feurerht afat fad o fAofor st € sefes
UTIGII e ehl ATl e A1 T SIgERoT et
gl

2. fRurerft ofik uradidia gAY afeat srgamwdt €1

3. fearem & afeal uragidia afeat & germm &
31fdep uRuaa g1

Wi YAl & g hiH-T1/3 Tgl 8/8?

(A) hae 1

(B) thad 3

(€ 1,2,3R3

(D) Iuger # & A 7t

fA=fafEa syl R R

1. AEMA, Merad, ardt ofk Feom gd &t ek
yaifed g arett Afear g1

2. UG YRd &t uffa Fi ik varfed g areft
qfear Seer sAdT 81

3. Urgdt YRd &t gd Hr SR yarfed g areft
qfeat & 93t I § g Afeal [ fa fi gl

IR YAl & § hiH-T1/3 Tl 8/8?

(A) 1 3R 2 dhaa

(B) a3

() 1,2,38R3

(D) Suad & @ g el
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86. Considers the following statements:

1. Satluj originates from the Mansarovar-Rakas
lakes.

2. Bhakra dam is built on the river Chenab.

‘Which of the above statements is/are correct?

(A) 1 only

(B) 2 only

(C) Both of the above

(D) None of the above

87. Consider the following statement:

1. River Yamuna flows through Himachal
Pradesh, Uttrakhand, Haryana, Delhi, and
Uttar Pradesh.

2. Hathni Kund Barrage is located on the
Yamuna River.

Which of the above statements is/are Incorrect?

(A) 1 only

(B) 2 only

(C) Both of the above

(D) None of the above

88. Consider the following statements:
1. Black soil has high water retaining capacity.
2. Alluvial soil is most abundantly found in
Indi(A)
‘Which of the above statements is/are correct?
(A) 1 only
(B) 2 only
(C) Both of the above
(D) None of the above

89. Consider the following statement:

1. Kalahari Desert is abode to Bushmen Tribes.

2. The Great Green wall initiative is an initiative
of the Sahel region.

Which of the above statements is/are incorrect?

(A) 1 only

(B) 2 only

(C) Both of the above

(D) None of the above

90.  Which of the following statement is correct?

(A) River Nile originates from Lake Victoria.

(B) Botswana is one of the countries that share its
border with Lake Tanganyika.

(C) Atlas mountain ranges run through South
Africa.

(D) The Horn of Africa referred to countries of
North-western Africa.

91. Consider the following statement:
1. In India, the ideal growing temperature for

92.

93.

sugarcane is 31-37°C in a hot and humid climate.

It grows in brown or reddish loams, laterite, and

black soils.

2. South India has a larger Sugarcane
production per unit area than north India.

3. India is the largest producer of Sugarcane in
the World.

Which of the following statements is/are correct?

(A) 1 only

(B) 1 & 2 only

(C) 2 & 3 only

D)1,2&3

Consider the following statement with reference

to Cotton:

1. Gujarat is the largest producer of cotton yarn
and cloth.

2. Cotton needs 21-30°C of temperature and
around 50-100cm of rainfall to grow.

3. Bt Cotton cover over 60% of the area under
Cotton.

Which of the following statement is/are

Incorrect?

(A) 1 only

(B) 1 & 2 only

(C) 2 only

(D) 1 & 3 only

Which of the following is/are correct?

1. Social forestry is the management and
maintenance of forests, as well as the
reforestation of deforested and barren areas

2. Planting trees along canals, roadways, and
railroads, as well as on wastelands, is part of
social forestry.

Select the correct answer using the code given

below:

(A) 1 only

(B) 2 only

(C) Both1 &2

(D) Neither 1 nor 2

CALL: 0522-4623578
9911999187
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86. ffcifad syl R iR w=ar &:
1. gaos AFERIER-TRY 3ite 9 Raverd &1
2. 9rgeT gy fAATe A8 R AT 8|
IR Yl & F BH-T1/T T &/8?
(A) a1
(B) dhaet 2
(C) Iwiad gt
D) Iuder # & chls gl

87. fm=fifed syt R R HifSe:
1. g ) fRmraer wewn, SwRrds, gRarom, ot
3R IR U ¥ gl I8l g
2. g dg SRt gAr A W T 8
SWied & § i 91/9 Y= 7Todd 8/87?
(A) a1
(B) thad 2
(C) SR gl
(D) Suged & § 1S gt

88. fmffad syl R R &
1. ohIel 7T H STl URUT el <hl &1 Sk il
gl
2. YRd H SIcilg Ha&l Gaifde Uig Sl gl
Wi YAl B @ hH-T1/3 Tl 8/8?
(A) haeT 1
(B) haet 2
(C) I gt
(D) Swie & & S Tel

89. f=fafEa sy R foeR &

1. HIER! A¥IA AT S I Fae wi=
gl

2. T U¢ WF afad ugd (The Great Green Wall
Initiative) TTgel & chl Teh Ugd gl

SWRIT Ul & ¥ iF 91/ Teid &/8?

(A) Fad 1

(B) thad 2

(C) SR gl

(D) Sudaa & @ 1S g

90. f=ffEad @ & 91wy 9l 82
A) e 7 faaeiRan sha @ et 1
(B) dicgamT 37 23 & ¥ Uah g STt aimfAent sfta &
QT YT AT TS hRT g
(C) Qead udd sl &f&iur STehiehl & glehe ot
H

91.

92.

93.

(D) BT+ i 3nhient ITR-UfYHT onhler & 2= ot
Gefd et g

ffafEa vy &R iR e

1. 9Rd #, 7 3R 3¢ STetarg # 7= & forg st
agaE 31-37 feilt afckew 81 38 o a1 &
Qe AeISe 3R ahrell HaT & It B

2. T Rd § IR 9Rd &l go-T § Ui 3hTS &
# 741 IATEA A g

3. 9Rd fagy & T 1 GED IIT IATEH Bl

fefafa d @ o 98 su= 9 8/8?

(A) haet 1

(B) thad 1 3R 2

(C) haa2 3k 3

(D) 1,23k 3

FHUY & G 7 Fmfaf@a syt R iR fifse:

1. TR Tt ot 3R S T G §8T IUTEH g

2. ®UN & I & fag 21-30 feft fREmw
qoEE SR @ 50-100 Tt i &
3TaThdT gl g

3. BT &U™, &U9 & 60% ¥ 3ifds &F @&l
STeBIIed PhedT gl

F=fefEa 8 @ o 91/3 %y Ted /87

(A) haeT 1

(B) thaa 1 3R 2

(C) *aet 2

(D) ohaer 18R 3

ffafea & & o ava a8t 8/8?

1. IS Gt a=t &l Uded SR IWREE 8,
1Y gt a1 chl heTs 3R IR &A1 | a1 i herg

2. g, Gl SR ITHNT S AY-ATY o fH W
US ST 9THTSTh aTf-chl ahT 9T g1

2 &Y 7Y e a1 T R et SR AT

(A) haet 1

(B) had 2

(Q) 1 3R 2t

(D) a1 3fRAE2
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94.

95.

96.

97.

Consider the following statements:

1. Bituminous has a low moisture content, and
the highest calorific value.

2. India has the world's sixth-largest coal
reserves.

3. The older Gondwana formations of
peninsular India contain the majority of
India's coal reserves.

Which of the following

Incorrect?

(A) 1 only

(B) 1 & 3 only

(©) 1&2only

(D) 2 & 3 only

statement is/are

Which of the following statement is/are correct?

1. The Amazon River has its origin in Peru.

2. Andes Mountains extend from north to south
through eight Countries, Venezuela,
Colombia, Ecuador, Bolivia, Peru, Chile,
Brazil, and Argentina.

3. The Guiana Highlands has an abundance of
rain, tropical rainforest, and gold, diamond,
and iron ore reserve.

Select the correct answer using the code given

below:

(A) 1 only

(B) 2 only

(©) 1 & 3 only

D)1,2&3

Consider the following statement with regard to

Grassland of South America:

1. Campos and Llanos are Temperate
Grassland.

2. The Pampas of Argentina are Tropical
Grassland.

Which of the following is/are correct Statements?

(A) 1 only

(B) 2 only

(C) Both 1 &2

(D) Neither 1 nor 2

Consider the following statements regarding

North America:

1. The Mississippi River flows entirely within
the borders of the United States.

2. Mount Denali is the continent's highest point
and Death Valley is the lowest.

Which of the above statement is/are correct?

(A) 1 only

(B) 2 only

(C) Both 1 &2

(D) Neither 1 nor 2

98.

99.

100.

Which of the following is/are correct?

1. The Appalachian and Labrador plateaus are
part of the Western Highlands.

2. Prairies Grasslands are known as “Granaries
of the World”.

Select the correct answer using the code given

below:

(A) 1 only

(B) 2 only

(C) Both1 &2

(D) Neither 1 nor 2

Consider the following Statements with regard to

the Godavari River system:

1. Godavari river rises from a place called
Mahabaleshwar located in the Western Ghats
in the state of Maharashtra.

2. The Godavari basin includes the Indian states
of Maharashtra, Andhra Pradesh,
Chhattisgarh, Odisha, Madhya Pradesh,
Karnataka, and the Union Territory of
Puducherry.

3. The Sri Ram Sagar project, constructed on
this river, meets the requirement for irrigation
only.

4. Pravara, Munneru, Manjra, Peddavagu,
Maner, and other right-bank tributaries of the
Godavari River.

Select the correct answer using the code given

below:

(A) 1 & 2 only

(B) 2 only

(C) 2 & 3 only

(D) 1, 3 & 4 only

Which of the following Statement is Incorrect?

(A) The Krishna is the second-largest east-flowing
river of the Peninsula.

(B) Some of the main dams on the Krishna River
include Almatti Dam and Srisailam Dam.

(C) The Ancient name of the Malaprabha river
was Pampa

(D) The right-bank tributaries of the Krishna
River are Venna, Koyna, Panchganga,
Dudhganga, Ghataprabha, Malaprabha, and
Tungabhadra.

AL
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94,

95.

96.

97.

el vyl &R fiar ais:

1. fagfaa & 7+ &t A A gt 8, SR Swman
SRt A glaT 81

2. YR & UTH g7 ST BT Had IgT Shiell HeR
gl

3. Ugd YRd & URiE wigaET deEneh #
YR & STfARIT DT HSR B

ffefEa & @ & 91/9 %ye Ted 8/8?

(A) had 1

(B) haet 1 3R 3

(C) dhaer 1 3R 2

(D) haat 2 3R 3

fFefafaa d @ o9 av/a Fu= a9 8/8?

1. S 4 T SgH U A 81

2. UENT ydd o1Ta &M, AT, hici e, SHTER,
Treftfaar, 9%, R, sTofier 3R SrStamT & Areny
Y IR 4 &faror ges Tt gan gl

3. TEFTI=EYA (Guiana Highlands) & o= #15T
# quf, Iwrehfesdia auiam, ik T, g1 ofiR
g 3T T ¥SR gl

2 37 77T Fe @1 v R Het SR I

(A) dhad 1

(B) had 2

(C) haer 18R 3

(D) 1,2 3R 3

zfaror emiRept & a9 & AgH & dey & FAm=fafaa
FHY R R SIS

1. SO SR A Lfidsr a9 & deF g1

2. ITSIEHT T T IWTeh s €T ot A Bl
fFafafaa & @ o= 98 su= 9 /87

(A) a1

(B) haet 2

(C) 1 3R 2 g+t

(D) Fat13RA82

I emRe & ey § Fefaf@d suaf = fGErR

Hifag:

1. R 98 & e @ Ty a5 Rt &
raraff & ofiaR vanfea gidt &1

2. HISC AT ATGIT T SeaaH foig ¢ 3Rk 39 Jeft
(Death Valley) Ted 71 81

IR | ¥ B9 T1/T HY Tgt &/8?

(A) had 1

(B) Fadt 2

98.

99.

100.

(C) 1 3R 2 &t
(D) Fat 13RI 2

fafofea 8 3 o9 ar/a a8t 8/8?

1. =T R AsmER uerR ufgH I=yfd
(western highlands) @1 4T 81

2. OO O & AeHi i "fay & o WeR" & wU H
ST STTaT 8

2 f&Q 7Y e 1 AT R et SR g

(A) a1

(B) aet 2

(C) 13R2aHf

(D) Fat 13RI 2

Merad 9 goreft & day § fFefafaa s w®

faR

1. e TE "AERIE T & ufgH g § 29
HEIEA2R A R & Feperd! 21

2. TMeEd I d YRAT I5T AERTY, Y U,
BT, SNfem, Hew RS, whdiceh 3R g
MRS Te2T gt i 8|

3. 39 7 R & oft 3 R ufeier e &
STIRYhdT i 6l G et g

4, YR, TS, o, UETaT], FR 3R Mereadt 7t &
gIfee fohR &Y o= TgTaes AfeaT|

12 13T 77T g 1 vl R HE SR g

(A) Fae 1 3R 2

(B) et 2

(C) thaa 2 3k 3

(D) thaat 1, 3 3R 4

ffafea & @ o ar/a wgt &/8?

(A) o UEEIT & g Tad Tl gd-vaned g
areft 7 81

(B) UM Tl W & o A qieil 7 Srewgl diy 3R
sfiQters sy nfAe g1

(C) HTAYHT A& T U AT gET o7

(D) WM ¢} & alfent fohR <t graes Afear 3T,
e €
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